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Q; In aerobic metabolism, what is the fate of pyruvate produced by glycolysis?
|

a. Pyruvate loses carbon dioxide, and the remaining two carbon atoms become linked to coenzyme A.

b. Pyruvate loses carbon dioxide, producing acetaldehyde, which, in turn, is reduced to ethanol.
c¢. Pyruvate is reduced to lactate.

d. None of these
ANS: A

Q! Which of the followin

g is not an end product of glucose metabolism via either aerobic or anaerobic
=2  means?

a. ethanol ,

b. carbon dioxide ,

C. lactate .

d. fructose

e. all of these are end products of glucose ;netaboligm A
ANS: D

G} i. In the conversion of glucose to pyruvate, how many of the actual step's involve electron transfer?
=3

a. none it -
b. 1 R k: il
c. 2 .
d 3 71y
e. 4
L )
ANS: B

Q ' The phosphorylation of glucose to glucose 6-

- a. is so strongly exergonic that it does n
b. i lec

phosphate
ot require a catalyst.
to any other reaction.

€. Is an endergonic reaction that takes place because it is coy led t
hydrolysis of ATP, pled to the exergonic
d. isan exergonic reaction that is coupled to the endergonic hydrolysis of ATP
ANS: C ;

: CD !~ The enzyme glucokinase ' - £
5 a. phosphorylates a number of different su
mannose. , _ :
b. specifically phosphorylates glucose rather than other sugars.
c. isthe only kinase involved in glycolysis.
d. none of the above. :

ANS: B
©)

gars, including glucose, fructose, and
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| O Which enzyme catalyzes the
b

reaction shown?

CH,OPOz*
H o
& H
‘g B -«
OH OH -
H OH
LA >

Q + Which of the following sugars can be a substrate for hexokinase?
}Q_ a. glucose - ,

b. fructose .

c. mannose

d. all of these

e. none of these

ANS: D

s

Q \ Which enzyme is the key regulatory enzyme in glycolysié?- .
=9 a. Glyceraldehyde-3-phosphate dehydrogenase, o
b. Enolase
c. Phosphofructokinase o '
d. Aldolase

a. ATP

A Q i Which of the following exéréfiéé(s) alloétgfic_ pontrol in the reaction, Qf f)hosphofructokinase?

= q b. fructose 2,6-bisphosphatei’ o
c. both of these ' :
d. neither of these

ANS: C

Q v The reaction.c"f _fr.uctoéé 1,6-bisphosphate to give glﬁ&:eraldehyde-i%-phosphate and dihydroxyacetoﬁe

=D phosphate is an example of
{ a. areverse aldol condensation.

b. hydrolysis.
c. oxidation.
d. dehydration.

ANS: A

( ; ) v In glycolysis, ATPis synthesized by

= a.: substrate-level phosphdr)ilat_ign.
I b. oxidative phosphorylation.
c. phofophosphorylation. e C
d. both s"ubstrate-level and oxidative phosphory\atmn,
e. allthree of the above mjethods.
ANS: A
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H._ O a b
\?’ \ / Oy__OPOg?
H»C«0 -— .
H / i Ca OH
CHxOPO4 2
c CH0OPOg4
a b ¢
L ATP ADP H,0
II. NADH NAD* P,
1L NAD: NADH H,0
IV. NAD NADH P;
a I Tx. r o
b. II
c. III .
d IV 3
ANS: D
+  What kind of enzyme catalyzes the reaction shown?
=13
. a ||_b '
\04 \ / O\ ,OPOs
H>(|3<OH ~L >H>c|3<OH
s CH,OPOz% R CH20P03
a. anepimerase
b. anisomerase
c. amutase
d. adehydrogenase
ANS: D

'.' During glycolysis, ATP is sy.

v

i'f anhydride.
True_

False
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a l-phosphoglycerate : '
b. glyceraldehyde-3-phosphate

¢. dihydroxyacetone phosphate

d 3-phosphoglycerate

ANS: D :

BrRn

¢ . -Which of the .fo]lo.wing-is-re.quired,for_subs.traterlevel phosphorylation?
1 a. The substrate must contain multiple phosphate groups. ;-
T b. Molecular OXygen must present. d =R : by
C. The standard free energy of the hydrolysis reaction’is more negative than that for
hydrolysis of the new phosphate compound being formied.
d. All of the above are necessary for substrate-level phosphb_lf){_latior_l_.
ANS: C o

1

—~—

Which enz_y/'m_e catalyzes reaction the réaction shown?

ADP “ATP 'l

)
R -

enolase :

pyruvate dehydrogenase
pyruvate kinasé. :
phosphoglycerate ' mutase e

ANS: C

O ' During anaerobic metabolism in yeast, the carbons of glucose end up in
~ 7  a CO,
/7 b. ethanol.
lactic acid.
d. -both CO, and ethanol.
e. allof these

0 op

2

ANS: D
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O

~ Which of the following glycolytic enzymes forms a mixed anhydride from phosphoric acid?
- hexokinase.

phosphofructokinase.

a.
b
¢. glyceraldehyde-3-phosphate dehydrogenase.
d. phosphoglycerate kinase.

e. pyruvate kinase.

ANS: C

—

In the conversion of glyceraldehyde 3-phosphate to 1,3-bisphosphoglycerate - - - -
a. an alcohol group is phosphorylated. : .

b. an alcohol is oxidized to an aldehyde. .

c. an alcohol is oxidized to a carboxylic acid. -
d. analdehyde is oxidized to a carboxylic acid.

ANS: D Lol

]
»

/
\
\

G) ¢ . How many different reactions involve substrate-level phosphorylatxon durmg glycolys1s?

a. 1
92 b2
c. 3
d 4
e. 6
* ANS: B

»  Anaerobic metabohsm can occur in all these organisms or cells except:

- a. Yeast ‘
2% b. Redblood cells: x
c. Muscle tissué that is working very fast
d. Lactobacillus in mllk .
e. Anaerobic metabohsm can occur in all of these.
ANS: E

O »  Which of the following enzymes of anaeroblc metabolism is not tetrameric?
—7 " a. Hexokinase 5 :
- '7/“\ b. Phosphofructokinase

c. Pyruvate kinase

d. Lactate Dehydrogenase

ANS: A

2\
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